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. ?Eh%L%Zﬁﬁfﬁﬁﬁﬁi M Eil G ~ H {4 find relation among transfer matrix M,G and H
2. ESGEHAH 40T » kHHEAEEEEEFESE M G and H given below, please find M(s)
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3. FIFFEENTTE E #E R H B R 245 AR 22 14 7 Use the Routh-criterion to judge the

stability of this closed loop system
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Please find (1) JRAEZERE BT 4244155 (Controllable Canonical Form) HY A, B, C (2) A #Ef#H 7

EH{E A matrix eigen value (3) HH(2) 24553 » 50K K ZHEEIPREEZMIEE find Kto ensure
stability (4)(5 FH 2B = 75 EmEE (3)AY45SE Use the Routh-criterion to judge (3) results
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(1) Please find the state equation (first order) on this mechanical system (2) the transfer function

between Y(s) and F(s)
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RLC Electric network (1) find state equatlon of the circuit in matrix form (2) signal flow graph
representation (3) The transfer functions between l1(s) and E(s), l2(s) and E(s), and Ec(S) and E(s),
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#oK: (1) SKARE G RENAE -SRI (2) 484RAEE (signal flow graph representation)
(3)EEAZ LA EL 14(s) and E(s), 12(s) and E(s), and Ec(S) and E(s)
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(a) 24 EHESFHEY M K A9{E? Please find K to make this system critically damped
(b) Z4cEH/EEE A 0.5 454 K HY{E? Please find K to have damping ratio 0.5
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controllability and observability
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ZEEARE 2.G(s) = s SRHAEATIERR (Gain margin) ¢ Find Gain margin for a given
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